## City and County of San Francisco Department of Public Works TABULATION OF BIDS PLA

Contract ID: 0000005626

Contract Title: PW MISSION GENEVA INFRA IMPR

Full Title: PW MISSION STREET AND GENEVA AVENUE IMPROVEMENT PROJECT

Bids Received: March 2, 2022

BIDDERS (in the order received & opened):

LBE Status Claimed

Total Bid Price

A. Ruiz Construction Co.

MBE \$22,784,629.75

Mitchell Engineering

OBE \$23,206,027.00

Bauman Landscape & Construction, Inc.

OBE \$22,772,301.00

JMB Construction, Inc.

Sauman Landscape & Construction, Inc.

S19,275,387.80

Average Bid: \$22,009,586.39 Engineer's Estimate: \$21,660,859.75

% of Engineer's Estimate: 101.61% % of Engineer's Estimate vs. Low Bid 88.99%

\* Indicates Non-Responsive Bid

cc: Paul Barradas Carla Short Albert Ko Pansy Lam
Brian Deguzman Selormey Dzikunu Fernando Cisneros K2 Systems Jason Chin
Igbalbhai Dhapa Nicolas King Patrick Rivera Nicolas Huff Deanna Calleros

All Bidders Ed Yee Cyril Velasquez Raymond Woo

For complete subcontractor listings, check: <a href="https://bidopportunities.apps.sfdpw.org/CaseLoad/Details/2339">https://bidopportunities.apps.sfdpw.org/CaseLoad/Details/2339</a>

Reviewed By: Rob Loftus Approved By: Ben Washington

(Insert Name) (Insert Name)

Short Title: PW MISSION GENEVA INFRA IMPR

Full Title: PW MISSION STREET AND GENEVA AVENUE IMPROVEMENT PROJECT

<u> </u>			1				, <del></del> ,		<u> </u>	ı
<u> </u>	1	1	1	'	1	1	1	1	1	í L
<u> </u>	1	1	1	1	1	1	1	1	1	(
<u> </u>	1	1	1	A Buiz Construction	1	1	1	Barran Landerana	1	IMP Construction
<u>'</u>	1	1	1	A. Ruiz Construction Co.	1	Mitchell Engineering	1	Bauman Landscape & Construction, Inc.	1	JMB Construction, Inc.
BID ITEMS	QUANTITIES	UNIT	UNIT PRICE		UNIT PRICE		UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION
G-1	QUANTITIES	LS	UNII FRICE	\$1,890,000.00		\$1,100,000.00		\$2,500,000.00		\$1,150,000.00
G-1 G-2	5,920	HRS	\$117.00							\$698,560.00
G-2 G-3	71,018	LF	\$117.00							\$78,119.80
G-3 G-4	4	EA	\$10,000.00		\$18,000.00			. ,		\$55,000.00
G-5		LS		\$357,054.00		\$325,000.00		\$300,000.00		\$260,000.00
G-6		LS		\$238,036.00		\$225,000.00		\$5,000.00		\$160,000.00
G-7		AL		\$65,480.00		\$65,480.00		\$65,480.00		\$65,480.00
G-8		AL		\$40,000.00		\$40,000.00		\$40,000.00		\$40,000.00
G-9		AL		\$100,000.00		\$100,000.00		\$100,000.00		\$100,000.00
G-10		AL		\$150,000.00		\$150,000.00		\$150,000.00		\$150,000.00
G-11		AL		\$5,000.00		\$5,000.00		\$5,000.00		\$5,000.00
CS-1	450	US SHORT TON	\$45.00							\$29,250.00
CS-2	450	US SHORT TON	\$56.00			· · · · · · · · · · · · · · · · · · ·				\$36,900.00
CS-3	450	US SHORT TON	\$55.00			· · · · · · · · · · · · · · · · · · ·				\$9,450.00
CS-4	450	US SHORT TON	\$29.00	\$13,050.00	\$24.00		\$20.00			\$9,900.00
CS-5		AL		\$150,000.00		\$150,000.00		\$150,000.00		\$150,000.00
CS-6		AL		\$80,000.00		\$80,000.00		\$80,000.00		\$80,000.00
R-1	572,000	SF	\$1.10	. ,		. ,		· · · · · · · · · · · · · · · · · · ·		\$0.00
R-2	9,000	TON	\$200.00	· ' ' '						\$0.00
R-3	1,800	SF	\$24.00							\$48,600.00
R-4	155,800	SF	\$22.00							\$2,492,800.00
R-5	7,700	SF	\$40.00							
R-6	800	SF	\$45.00	' '		· · · · · ·				\$25,600.00
R-7	23,400	SF	\$44.00	, ,						\$936,000.00
R-8	900	CY	\$30.00			. ,				\$126,000.00
R-9	63,200	SF	\$21.00							\$1,106,000.00
R-10	2,800	LF	\$40.00							\$252,000.00
R-11	200	LF	\$38.00							\$16,000.00
R-12	4,200	LF	\$45.00							
R-13	100	LF	\$47.00	. ,						
R-14	350	LF	\$50.00							
R-15	86	EA	\$4,000.00	' '						
R-16	300	SF	\$30.00	. ,						
R-17	2	EA	\$7,900.00		\$40,000.00		·		· ·	
R-18	80	EA	\$300.00	\$24,000.00	\$367.00	\$29,360.00	\$50.00	\$4,000.00	\$680.00	\$54,400.00

Short Title: PW MISSION GENEVA INFRA IMPR

Full Title: PW MISSION STREET AND GENEVA AVENUE IMPROVEMENT PROJECT

	•									
				A Duiz Construction				Dayman Landasana		IMD Construction
				A. Ruiz Construction Co.		Mitchell Engineering		Bauman Landscape & Construction, Inc.		JMB Construction, Inc.
R-19	198	EA	\$600.00		\$367.00		\$85.00	\$16,830.00	\$915.00	\$181,170.00
R-20	74	EA	\$200.00	·	\$746.00	\$55,204.00	\$900.00	\$66,600.00	\$1,050.00	\$77,700.00
R-21	148	EA	\$100.00		\$746.00		\$80.00	\$11,840.00	\$550.00	\$81,400.00
R-22	200	LF	\$300.00	\$60,000.00	\$200.00	\$40,000.00	\$200.00	\$40,000.00	\$235.00	\$47,000.00
R-23		LS	Ψ500.00	\$32,000.00	Ψ200.00	\$7,582.00	Ψ200.00	\$12,000.00	Ψ200.00	\$9,000.00
R-24	40	EA	\$500.00		\$447.00	\$17,880.00	\$120.00	\$4,800.00	\$375.00	\$15,000.00
R-25	2,000	CY	\$200.00	\$400,000.00	\$75.00	\$150,000.00	\$50.00	\$100,000.00	\$280.00	\$560,000.00
R-26		AL		\$20,000.00		\$20,000.00		\$20,000.00		\$20,000.00
SW-1		LS		\$201,000.00		\$250,000.00		\$200,000.00		\$577,550.00
SW-2		LS		\$180,000.00		\$76,946.00		\$100,000.00		\$140,000.00
SW-3	18	EA	\$8,000.00		\$20,000.00		\$9,000.00	\$162,000.00	\$20,000.00	\$360,000.00
SW-4	1	EA	\$4,500.00	·	\$4,780.00		\$2,500.00	\$2,500.00	\$3,200.00	\$3,200.00
SW-5	5	EA	\$5,355.00		\$2,671.00	\$13,355.00	\$5,100.00	\$25,500.00	\$6,000.00	\$30,000.00
SW-6		LS		\$29,000.00		\$50,000.00		\$27,300.00		\$30,000.00
SW-7	3	EA	\$1,677.00	\$5,031.00	\$1,602.00	\$4,806.00	\$1,525.00	\$4,575.00	\$1,750.00	\$5,250.00
SW-8		LS		\$21,780.00		\$25,000.00		\$19,900.00		\$27,500.00
SW-9	10	EA	\$667.00	\$6,670.00	\$107.00	\$1,070.00	\$606.00	\$6,060.00	\$775.00	\$7,750.00
SW-10	18	EA	\$370.00	\$6,660.00	\$107.00	\$1,926.00	\$336.00	\$6,048.00	\$775.00	\$13,950.00
SW-11	220	LF	\$176.00	\$38,720.00	\$91.00	\$20,020.00	\$160.00	\$35,200.00	\$200.00	\$44,000.00
SW-12	13	EA	\$185.00	\$2,405.00	\$321.00	\$4,173.00	\$176.00	\$2,288.00	\$205.00	\$2,665.00
SW-13	97	LF	\$238.00	\$23,086.00	\$588.00	\$57,036.00	\$850.00	\$82,450.00	\$1,025.00	\$99,425.00
SW-14	1,543	LF	\$466.00	\$719,038.00	\$713.00	\$1,100,159.00	\$350.00	\$540,050.00	\$550.00	\$848,650.00
SW-15	235	LF	\$451.00		\$755.00		\$400.00	\$94,000.00	\$575.00	\$135,125.00
SW-16	80	LF	\$800.00		\$1,115.00		\$800.00	\$64,000.00	\$990.00	\$79,200.00
SW-17	677	LF	\$300.00		\$333.00		\$400.00	\$270,800.00	\$500.00	\$338,500.00
SW-18	15	CY	\$300.00		\$215.00		\$300.00	\$4,500.00	\$1,700.00	\$25,500.00
SW-19	227	LF	\$200.00		\$185.00	\$41,995.00	\$230.00	\$52,210.00	\$315.00	\$71,505.00
SW-20	34	EA	\$2,200.00		\$3,000.00	\$102,000.00	\$2,000.00	\$68,000.00	\$4,000.00	\$136,000.00
SW-21	26	EA	\$6,200.00				\$7,800.00	\$202,800.00	\$18,000.00	\$468,000.00
SW-22	1	EA	\$7,000.00		\$15,241.00		\$7,800.00			\$18,500.00
SW-23	49	EA	\$500.00	·			\$100.00	\$4,900.00	\$740.00	\$36,260.00
SW-24	3	EA	\$2,800.00		• ,		\$1,000.00	\$3,000.00	\$1,180.00	\$3,540.00
SW-25	719	LF	\$220.00				\$170.00	\$122,230.00	\$330.00	\$237,270.00
SW-26	50	LF	\$100.00	·	\$249.00		\$200.00	\$10,000.00	\$330.00	\$16,500.00
SW-27	62	EA	\$100.00		\$275.00		\$50.00		\$160.00	\$9,920.00
SW-28	5	EA	\$1,000.00	\$5,000.00	\$300.00	\$1,500.00	\$50.00	\$250.00	\$160.00	\$800.00

Short Title: PW MISSION GENEVA INFRA IMPR

Full Title: PW MISSION STREET AND GENEVA AVENUE IMPROVEMENT PROJECT

				A D. :- O t ti				D		IMP Otiti
				A. Ruiz Construction Co.		Mitchell Engineering		Bauman Landscape & Construction, Inc.		JMB Construction, Inc.
SW 20	0.475	LF	¢10.00		<u></u>	\$13,050.00	¢15.00	\$32,625.00	<b>ተ</b> ድ ድር	\$14,355.00
SW-29 SW-30	2,175 68		\$10.00	·	\$6.00	\$27,540.00	\$15.00	\$3,400.00	\$6.60	\$6,800.00
SW-31	16	EA EA	\$100.00 \$600.00	·	\$405.00 \$611.00		\$50.00 \$1,000.00	\$16,000.00	\$100.00 \$1,250.00	\$20,000.00
SW-32	6,508	SF	\$10.00	·	\$27.00	\$175,716.00	\$1,000.00	\$97,620.00	\$1,230.00	\$97,620.00
SW-33	20	CY	\$150.00		\$446.00	\$8,920.00	\$300.00	\$6,000.00	\$180.00	\$3,600.00
SW-34		LS	Ψ130.00	\$1,000.00	<del></del>	\$25,000.00	<del>Ψ300.00</del>	\$2,500.00	ψ100.00 	\$10,000.00
SW-35		LS		\$5,000.00		\$25,000.00		\$20,000.00		\$70,000.00
SW-36	30	CY	\$400.00		\$700.00	·	\$500.00	\$15,000.00	\$700.00	\$21,000.00
SW-37		LS		\$72,184.80		\$75,000.00		\$33,970.00		\$102,000.00
SW-38		LS		\$48,123.20		\$53,000.00		\$13,480.00		\$72,000.00
SW-39		AL		\$60,000.00		\$60,000.00		\$60,000.00		\$60,000.00
S-1	8	EA	\$17,000.00	·	\$15,404.00	\$123,232.00	\$15,000.00	\$120,000.00	\$15,500.00	\$124,000.00
S-2	2	EA	\$18,900.00		\$20,217.00	\$40,434.00	\$20,000.00	\$40,000.00	\$10,750.00	\$21,500.00
S-3	20	CY	\$1,000.00	\$20,000.00	\$6,500.00	\$130,000.00	\$350.00	\$7,000.00	\$2,850.00	\$57,000.00
BR-1	353	LF	\$55.00	\$19,415.00	\$51.00	\$18,003.00	\$45.00	\$15,885.00	\$50.00	\$17,650.00
BR-2	353	LF	\$80.00	\$28,240.00	\$80.00	\$28,240.00	\$70.00	\$24,710.00	\$77.00	\$27,181.00
BR-3	104	SF	\$300.00	\$31,200.00	\$313.00	\$32,552.00	\$275.00	\$28,600.00	\$300.00	\$31,200.00
BR-4	24,268	SF	\$2.50	\$60,670.00	\$1.00	\$24,268.00	\$2.00	\$48,536.00	\$2.00	\$48,536.00
BR-5	272	GAL	\$120.00	\$32,640.00	\$135.00	\$36,720.00	\$110.00	\$29,920.00	\$115.00	\$31,280.00
BR-6	24,268	SF	\$5.50	·	\$1.00	·	\$4.50	\$109,206.00	\$5.00	\$121,340.00
BR-7	12,870	SF	\$7.00	\$90,090.00	\$6.00	\$77,220.00	\$6.00	\$77,220.00	\$6.00	\$77,220.00
BR-8		AL		\$85,000.00		\$85,000.00		\$85,000.00		\$85,000.00
E-1	62	EA	\$2,600.00		\$2,895.00		\$2,500.00	\$155,000.00	\$1,500.00	\$93,000.00
E-2	4	EA	\$2,600.00		\$2,895.00	\$11,580.00	\$2,500.00	\$10,000.00	\$1,500.00	\$6,000.00
E-3	2	EA	\$1,600.00		\$2,895.00		\$2,500.00	\$5,000.00	\$1,500.00	\$3,000.00
E-4	5	EA	\$2,300.00		\$1,737.00	\$8,685.00	\$1,500.00	\$7,500.00	\$1,250.00	\$6,250.00
E-5	15	EA	\$2,300.00		\$2,316.00	\$34,740.00	\$2,000.00	\$30,000.00	\$1,630.00	\$24,450.00
E-6	5	EA	\$2,200.00		\$2,316.00	\$11,580.00	\$2,000.00	\$10,000.00	\$1,500.00	\$7,500.00
E-7	9	EA	\$2,600.00			\$26,055.00	\$2,500.00	\$22,500.00	\$1,890.00	\$17,010.00
E-8	1	EA	\$3,200.00							\$2,130.00
E-9	17	EA	\$600.00				\$500.00		\$380.00	\$6,460.00
E-10	34	EA	\$2,200.00				\$2,000.00	\$68,000.00	\$620.00	\$21,080.00
E-11	34	EA	\$600.00				\$500.00	\$17,000.00	\$940.00	\$31,960.00
E-12	29	EA	\$1,600.00		•		\$1,500.00	\$43,500.00	\$1,130.00	\$32,770.00
E-13	4	EA	\$2,200.00		. ,		\$2,000.00 \$1,300.00	\$8,000.00	\$1,130.00	\$4,520.00
E-14	I	EA	\$1,400.00	φ1,400.00	\$1,505.00	\$1,505.00	φ1,300.00	\$1,300.00	\$1,130.00	\$1,130.00

Short Title: PW MISSION GENEVA INFRA IMPR

Full Title: PW MISSION STREET AND GENEVA AVENUE IMPROVEMENT PROJECT

	···· —, —									
				A Duiz Construction				Dayman Landasana		IMD Comptunction
				A. Ruiz Construction Co.		Mitchell Engineering		Bauman Landscape & Construction, Inc.		JMB Construction, Inc.
E-15	1	EA	¢7,000,00	\$7,000.00	\$7,525.00		¢6 500 00	\$6,500.00	¢2 650 00	\$3,650.00
E-15 E-16	9	EA EA	\$7,000.00 \$7,500.00	\$67,500.00	\$8,106.00		\$6,500.00 \$7,000.00	\$63,000.00	\$3,650.00 \$3,650.00	\$3,850.00
E-17	9	EA EA	\$8,000.00	\$8,000.00	\$8,685.00		\$7,500.00	\$7,500.00	\$4,000.00	\$4,000.00
E-17	1	EA	\$9,500.00	\$9,500.00	\$9,843.00		\$8,500.00	\$8,500.00	\$4,000.00	\$4,000.00
E-19	7	EA	\$9,500.00		\$10,422.00		\$9,000.00	\$63,000.00	\$7,400.00	\$51,800.00
E-20	6	EA	\$22,000.00		\$24,318.00		\$21,000.00	\$126,000.00	\$23,550.00	\$141,300.00
E-21	2	EA	\$27,000.00		\$28,949.00		\$25,000.00	\$50,000.00	\$26,200.00	\$52,400.00
E-22	1	EA	\$30,000.00		\$31,266.00		\$27,000.00	\$27,000.00	\$32,800.00	\$32,800.00
E-23	1	EA	\$32,000.00	\$32,000.00	\$34,739.00		\$30,000.00	\$30,000.00	\$28,700.00	\$28,700.00
E-24	1	EA	\$38,000.00	\$38,000.00	\$40,529.00		\$30,000.00	\$30,000.00	\$28,700.00	\$28,700.00
E-25	1	EA	\$22,000.00		\$31,266.00	·	\$35,000.00	\$35,000.00	\$32,400.00	\$32,400.00
E-26	1	EA	\$32,000.00		\$33,582.00		\$29,000.00	\$29,000.00	\$36,000.00	\$36,000.00
E-27	4	EA	\$4,400.00	·	\$4,632.00		\$4,000.00	\$16,000.00	\$1,400.00	\$5,600.00
E-28	4	EA	\$3,000.00		\$2,316.00	·	\$2,000.00	\$8,000.00	\$1,800.00	\$7,200.00
E-29	18	EA	\$600.00	\$10,800.00	\$579.00		\$500.00	\$9,000.00	\$1,250.00	\$22,500.00
E-30										
E-31	20	EA	\$1,200.00	\$24,000.00	\$1,158.00	\$23,160.00	\$1,000.00	\$20,000.00	\$680.00	\$13,600.00
E-32	39	EA	\$2,000.00	\$78,000.00	\$1,737.00	\$67,743.00	\$1,500.00	\$58,500.00	\$1,060.00	\$41,340.00
E-33	6	EA	\$2,400.00	\$14,400.00	\$2,316.00	\$13,896.00	\$2,000.00	\$12,000.00	\$1,550.00	\$9,300.00
E-34	5	EA	\$2,800.00		\$2,895.00		\$2,500.00	\$12,500.00	\$3,475.00	\$17,375.00
E-35	68	LF	\$110.00		\$116.00		\$100.00	\$6,800.00	\$100.00	\$6,800.00
E-36	1,081	LF	\$110.00		\$127.00		\$110.00	\$118,910.00	\$155.00	\$167,555.00
E-37	434	LF	\$125.00		\$139.00		\$120.00	\$52,080.00	\$165.00	\$71,610.00
E-38	26	LF	\$140.00		\$151.00		\$130.00	\$3,380.00	\$165.00	\$4,290.00
E-39	118	LF	\$130.00		\$133.00		\$115.00	\$13,570.00	\$142.00	\$16,756.00
E-40	112	LF	\$140.00	\$15,680.00	\$145.00		\$125.00	\$14,000.00	\$142.00	\$15,904.00
E-41	50	LF	\$155.00	\$7,750.00	\$156.00		\$135.00	\$6,750.00	\$142.00	\$7,100.00
E-42	692	LF	\$175.00	\$121,100.00	\$174.00		\$150.00	\$103,800.00	\$155.00	\$107,260.00
E-43	193	LF	\$210.00	\$40,530.00	\$197.00	. ,	\$170.00	\$32,810.00	\$175.00	\$33,775.00
E-44	189	LF · -	\$230.00		\$232.00		\$200.00	\$37,800.00	\$210.00	\$39,690.00
E-45	391	LF	\$245.00		\$255.00		\$220.00	\$86,020.00	\$215.00	\$84,065.00
E-46	184	LF	\$265.00		\$278.00		\$240.00	\$44,160.00	\$215.00	\$39,560.00
E-47	70	LF	\$229.00		\$301.00		\$260.00	\$18,200.00	\$260.00	\$18,200.00
E-48	337	LF	\$180.00		\$203.00		\$175.00	\$58,975.00	\$260.00	\$87,620.00
E-49	639	LF	\$230.00		\$255.00		\$220.00	\$140,580.00	\$405.00	\$258,795.00
E-50	35	LF	\$160.00	\$5,600.00	\$174.00	\$6,090.00	\$150.00	\$5,250.00	\$92.00	\$3,220.00

Short Title: PW MISSION GENEVA INFRA IMPR

Full Title: PW MISSION STREET AND GENEVA AVENUE IMPROVEMENT PROJECT

	, _									
				A. Ruiz Construction				Bauman Landscape		JMB Construction,
				Co.		Mitchell Engineering		& Construction, Inc.		Inc.
E-51	6	EA	\$8,000.00	\$48,000.00	\$8,685.00		\$7,500.00	\$45,000.00	\$2,400.00	\$14,400.00
E-52							Ψ7,000.00 		Ψ <u>2</u> , +00.00	φτι, 100.00 
E-53	6	EA	\$2,000.00	\$12,000.00	\$2,000.00	\$12,000.00	\$1,500.00	\$9,000.00	\$1,885.00	\$11,310.00
E-54	138	LF	\$45.00	\$6,210.00	\$46.00	·	\$40.00	\$5,520.00	\$32.00	\$4,416.00
M-1		LS		\$700,000.00		\$781,738.00		\$675,095.00		\$460,000.00
M-2		LS		\$40,000.00		\$40,529.00		\$35,000.00		\$36,000.00
M-3		LS		\$50,000.00		\$52,109.00		\$45,000.00		\$80,000.00
M-4	120	CY	\$500.00	\$60,000.00	\$405.00	\$48,600.00	\$350.00	\$42,000.00	\$660.00	\$79,200.00
M-5		LS		\$140,393.75		\$150,000.00		\$120,000.00		\$100,000.00
M-6		AL		\$72,000.00		\$72,000.00		\$72,000.00		\$72,000.00
E-1A	68	EA	\$2,800.00	\$190,400.00	\$2,895.00	\$196,860.00	\$2,500.00	\$170,000.00	\$1,500.00	\$102,000.00
E-2A										
E-3A										
E-4A	11	EA	\$1,800.00		\$1,737.00		\$1,500.00	\$16,500.00	\$1,250.00	\$13,750.00
E-5A	14	EA	\$2,300.00	\$32,200.00	. ,		\$2,000.00	\$28,000.00	\$1,630.00	\$22,820.00
E-6A	7	EA	\$2,200.00	\$15,400.00	\$2,316.00		\$2,000.00	\$14,000.00	\$1,500.00	\$10,500.00
E-7A	8	EA	\$2,700.00	\$21,600.00	\$2,895.00	\$23,160.00	\$2,500.00	\$20,000.00	\$1,885.00	\$15,080.00
E-8A										
E-9A	18	EA	\$600.00		\$579.00		\$500.00	\$9,000.00	\$375.00	\$6,750.00
E-10A	38	EA	\$2,200.00		\$2,316.00		\$2,000.00	\$76,000.00	\$630.00	\$23,940.00
E-11A	38	EA	\$600.00		\$579.00		\$500.00	\$19,000.00	\$940.00	\$35,720.00
E-12A	25	EA	\$1,700.00		. ,		\$1,500.00	\$37,500.00	\$1,130.00	\$28,250.00
E-13A	13	EA	\$2,200.00	\$28,600.00	\$2,316.00	\$30,108.00	\$2,000.00	\$26,000.00	\$1,130.00	\$14,690.00
E-14A										
E-15A										
E-16A	15	EA	\$7,500.00		\$8,106.00		\$7,000.00	\$105,000.00	\$3,675.00	\$55,125.00
E-17A	2	EA	\$8,000.00	\$16,000.00	\$8,685.00	\$17,370.00	\$7,500.00	\$15,000.00	\$4,025.00	\$8,050.00
E-18A										
E-19A	3	EA	\$9,800.00	\$29,400.00	\$3,851.00		\$9,000.00	\$27,000.00	\$7,400.00	\$22,200.00
E-20A	13	EA	\$23,000.00	\$299,000.00	\$16,266.00	\$211,458.00	\$21,000.00	\$273,000.00	\$23,550.00	\$306,150.00
E-21A										
E-22A	1	EA	\$30,000.00	·	\$31,266.00	·	\$27,000.00	\$27,000.00	\$32,800.00	\$32,800.00
E-23A										
E-24A										400 500 00
E-25A	1	EA	\$30,000.00	·	\$31,266.00	·	\$27,000.00	\$27,000.00	\$32,500.00	\$32,500.00
E-26A										

Short Title: PW MISSION GENEVA INFRA IMPR

Full Title: PW MISSION STREET AND GENEVA AVENUE IMPROVEMENT PROJECT

	,									
								_		
				A. Ruiz Construction				Bauman Landscape		JMB Construction,
				Co.		Mitchell Engineering		& Construction, Inc.		Inc.
E-27A										
E028A										
E-29A	22	EA	\$600.00	\$13,200.00	\$579.00	\$12,738.00	\$500.00	\$11,000.00	\$1,250.00	\$27,500.00
E-30A	1	EA	\$10,000.00			\$11,001.00	\$9,500.00	\$9,500.00	\$3,600.00	\$3,600.00
E-31A	4	EA	\$1,100.00		\$1,158.00	\$4,632.00	\$1,000.00	\$4,000.00	\$680.00	\$2,720.00
E-32A	26	EA	\$1,800.00		\$1,737.00	\$45,162.00	\$1,500.00	\$39,000.00	\$1,060.00	\$27,560.00
E-33A	24	EA	\$2,200.00	\$52,800.00	\$2,316.00	\$55,584.00	\$2,000.00	\$48,000.00	\$1,550.00	\$37,200.00
E-34A										
E-35A				400.070.00		407.455.00		 #04.450.00	 * 4 = 5 = 0.0	 0.4.40, 575, 00
E-36A	765	LF	\$118.00		\$127.00	\$97,155.00	\$110.00	\$84,150.00	\$155.00	\$118,575.00
E-37A	260	LF	\$124.00	·	\$139.00	\$36,140.00	\$120.00	\$31,200.00	\$165.00	\$42,900.00
E-38A	100	LF	\$140.00		\$151.00	\$15,100.00	\$130.00	\$13,000.00	\$165.00	\$16,500.00
E-39A						 **********************************		 #00.750.00		
E-40A	310	LF	\$130.00	\$40,300.00	\$145.00	\$44,950.00	\$125.00	\$38,750.00	\$142.00	\$44,020.00
E-41A										
E-42A	70	LF	\$168.00	\$11,760.00	\$174.00	\$12,180.00	\$150.00	\$10,500.00	\$155.00	\$10,850.00
E-43A	100	LF	\$183.00		\$197.00	\$19,700.00	\$170.00	\$17,000.00	\$210.00	\$21,000.00
E-44A	260	LF	\$205.00		\$232.00	\$60,320.00	\$200.00	\$52,000.00	\$210.00	\$54,600.00
E-45A	320	LF	\$225.00	\$72,000.00	\$255.00	\$81,600.00	\$220.00	\$70,400.00	\$215.00	\$68,800.00
E-46A										
E-47A			 #400.00	 #7,000,00		 00.400.00	 #475.00	 #7.000.00	 #000.00	 #40,400,00
E-48A	40	LF	\$180.00	\$7,200.00	\$203.00	\$8,120.00	\$175.00	\$7,000.00	\$260.00	\$10,400.00
E-49A				440.050.00		 *45.000.00		 #40.500.00		
E-50A	90	LF	\$155.00		\$174.00	\$15,660.00	\$150.00	\$13,500.00	\$90.00	\$8,100.00
E-51A	3	EA	\$8,200.00		\$8,685.00	\$26,055.00	\$7,500.00	\$22,500.00	\$2,400.00	\$7,200.00
E-52A	6	EA	\$8,200.00		\$8,685.00	\$52,110.00	\$7,500.00	\$45,000.00	\$2,400.00	\$14,400.00
E-53A	9	EA	\$2,200.00	\$19,800.00	\$2,316.00	\$20,844.00	\$2,000.00	\$18,000.00	\$1,885.00	\$16,965.00
E-54A	450	LF	\$44.00	\$19,800.00	\$46.00	\$20,700.00	\$40.00	\$18,000.00	\$32.00	\$14,400.00
M-1A		LS		\$550,000.00		\$590,564.00		\$510,000.00		\$25,000.00
M-2A		LS		\$31,800.00		\$33,582.00		\$29,000.00		\$15,000.00
M-3A		LS	 #075.00	\$40,000.00	 #405.00	\$42,845.00	<b></b>	\$37,000.00	 #000.00	\$15,000.00
M-4A	200	CY	\$375.00		\$405.00		\$350.00	\$70,000.00	\$660.00	\$132,000.00
M-5A		LS		\$113,766.00		\$95,000.00		\$75,000.00		\$75,000.00
M-6A		AL		\$120,000.00		\$120,000.00		\$120,000.00		\$120,000.00
TOTAL BID PR	KICE:			\$22,784,629.75		\$23,206,027.00		\$22,772,301.00		\$19,275,387.80

Full Title: Bid Date:		PW MISSION STREET AND GENEVA AVENUE IMPROVEMENT PROJECT March 2, 2022										
				A. Ruiz Construction Co.		Mitchell Engineering		Bauman Landscape & Construction, Inc.		JMB Construction, Inc.		
	= Indicates	a correction of the	he bid price	after review.	•		•	•	•	•		

Short Title:

0000005626

PW MISSION GENEVA INFRA IMPR